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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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State the postulate of Dalton’s Atomic theory that explains Law of Conservation of
Mass.
Steed % Y] Rt 1 9 SrawRon fafey S e W & frem # s S

2

Write the name of the group of plants which produces seeds but not fruits.

i % 39 w1 T fefEe S for wa % i S e

List any two human activities that you think would lead to air pollution.

A et el ) g SR SR g AT Wgu e ¥ 1

State two reasons why whales are not grouped with fishes ?

2 o fafay, F40i Rew 1 woferdl & @ afiga T o s @ ?

List four ways of spreading communicable diseases.

TRt A % e F AR S F YA R

State Archimedes’ principle. Based on this principle, write any one application.

i =1 frgia o g | T fagia W s sat T st fafaa |

List two conditions which need to be satisfied for the work to be done on an object ?

3 2 Feaferell @ eft sTEw S ot g W okl Y o T S € 2

(a) Define the atomic mass unit.
(b) Write the chemical formulae of :
(i) Ammonium Carbonate (i) Sodium Oxide
(c) Write the name of the compound Alx(SO4)s and mention the ions present in it.

()  TRE] oA 3K Ao e
(b) = et g fafee

()  ewhfEm FERe (i) wfean siFEES
©  AL(SO,), Afirs =1 T fafey qen e faemm s 1 Seerd Hifsr |

State the features of Rutherford’s atomic model.

TRE F e Hiew #i ferdroand fafaw |

If an element ‘X’ is available in the form of say, two isotopes ggBr (49.7%) and g;Br
(50.3%), calculate the average atomic mass of the atom of ‘X".

ft Y X A G - [2Br (49.7%) 37 S1Br (503%), % w H suer=d € < 5@

Page 3 of 14





[image: image3.jpg]e X’ BT S A ZEA T I |

On what basis are plants and animals put into different categories ? Write three 3
points.
o STMR W TR e Sigati i arer ol H Tan &2 i Sl o S i |

Write one point of difference each, between the following : 3
(@) Amphibians and Reptiles

(b) Aves and Mammals

() Gymnosperm and angiosperm

fFrfafea § uw-u siw fafa :-

(a) oY@ =R qen agy

(b)  wef T TR

(c) fomiem e dfseirend

List the names of three diseases caused by virus stating their mode of 3
communication in each case.

T BT BN AT A AT Y G SR T Fedoh Wb H g FeRo ki faf
e ft |

(a)  School bags are provided with broad straps. Give reason. 3
(b)  The relative density of iron is 7.8. What will be the mass of an iron brick with
dimensions 5 cm X 10 cm X 20 cm ? (Density of water is 1 g/ cc)

(a)  forerer 3 1 WY et arEn g1 FR fareg)
(b) S o SAflE T 7.8 ) 5cm x 10 em x 20 cm fomei aweht sitae =t $e
I FEAHM T HIG | (Sl Al B 1 g/ cc)

Define 1 watt of power. A lamp consumes 1000 ] of electrical energy in 10s. Calculate

its power. .
T o1 Wit ) aref FRT | T e 1000 ] o St o 3w 10s H O E

o wfer wftarfera g |

How much work should be done on an object of 120 kg to increase its speed from 25 3
m/sto40m/s?

ot o BT T 120 kg &1 39 o] % 3 I 25 m/s W40 m/s T =g H e T

e T |

A radio station is transmitting its signals at a frequency 400 Mhz. If the velocity of 3

radio waves is 3 x 10° m/s, Calculate the wavelength of radio waves.

T Y R 400 Mhz ST T W Fuia e @ E | afs e w1 a3 x10®
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18. State two causes and two effects of depletion of ozone layer in the atmosphere.

a1 el H i T % STEad S  HRON a1 S WHE o Seerd HfT |

19. (a) What is meant by acid rain ? How has it affected the environment and
historical monuments ?
(b)  What is smog ? Name two diseases caused by smog.

(a) ol ol Qo Ao ¥? T R TN AR qe Lt e fohE TR
yonifera @9 € 2
(b) i R hea €2 W A 2 At @ A % Tm fafew)

20. (a) Define (i) Molar mass (i) Avogadro constant
(b) What is the mass of 0.5 mole of NH3 ? Given Atomic mass of N = 14u, Atomic
mass of H = Tu.
(©) Calculate the number of particles in 31 g of P4 molecules. Atomic mass of

P=31u. (No =6.022x 10> per mole)
(d)  Find the number of moles in 87g of KzSOs (Atomic mass of K=39u, 5=32u,
O=16u)
(@)  rew R -
() R FEEE (i)  smEmEY R
(b)  NH, % 0.5 W @1 goan f &2 f o €, N 1 e g5 = 14u e H
A FFHE = 1u
() P, % 31 gH Sufeer Foll i HEM T Y| Pl A FAH=31 u.
(No =6.022 x 10* ¥fi Hiet)
(d)  K,S0, % 87 g 7  ferer Hieil 1 WAl R hiforg | (FHI T K =39
u,  $=32u,TMO =16u¥|

OR
(a) Define (i) Formula unit mass (i) Polyatomic ion.
(b)  Calculate the number of moles for the following.
(i) 36g of He (At. Mass of He =4 u)
(i)  12.044x10% molecules of HO (At. mass of He=1u, O=16 u)

(©) How many atoms are present in -
@ sorion ? () NHstion  ?
(a)  ufenfa )
() I e (i) TG S
(b)  Frefafea § wc @ wen w1 i S -
(i) 367 He (He WHI Zo4HM = 4u)
(i)  12.044 x 10 ST % 37 (WHY §H9H H=1u, O=16u)
() Frefafa sl § e v safeq € -
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‘Sound wave is a longitudinal wave and requires a material medium to propagate’. 5
Justify this statement with the help of an experiment.

ety i TR T ¥ e sE SR & A A ) sevashar At §1'! 96 e
1 gfie o weim g

@)  so; s (i)  NHe"sffa

State two characteristic features of Bryophytes. 5
Identify the class to which the following belong :-

(i) Cold blooded animals with scaly skin and two chambered heart.

(i)  Egg laying warm blooded animals with four chambered heart.

(iii)  Cold blooded animals with scales and laying eggs near water.

a1 e W Q) fafire @ew fafe )

Frefafaa sfal @ e qur 9k aif & =M fafa)

(i) Frguardt sfe fe ©=1 Wl (scales) ¥ T AN ¥ A1 %A feweia
2l

(i) oS A At T i T e AR wE ¥

(i) TEHaTdt Shar foe IR Yol g @ A € # S % wHig 2@
il

OR
What are diploblastic and triploblastic animals ?
How are breathing organs of fish and lizard different ?
What is notochord ?
Tt aon Frerrant sig @ 21 &2
Heel! & Yo 3 foudhelt ¥ vaw ofn § forw waR e 22

ARTE Bt ¥ 2

A light and a heavy object have the same momentum. What is the ratio of 5
their kinetic energies ? Which one has a larger kinetic energy ?

A ball is dropped from a height of 10m. If the energy of the ball reduces by

40% after striking the ground, how much high can the ball bounce back ?

(g = 10ms—2)

2 favel fomd ue oo qun gE W ¥ % A wEE ¥ g st Sifel
ST 1 R 2 fered i st arfren Bt 2

T et I 10 m 1 S A e s @, s @ 2o & a1 Afg sta @ e
40% ¥ B STt & st et S e anew s 2

(8 = 10ms—?)

OR
State the law of conservation of energy.
Show that the energy of a freely falling body is conserved.

Fe weeon o fram fafaw)
TiiEy fof e oo firedt oy it it wefee et &2
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What is an echo ? What should be the minimum distance of the obstacle from the
source of sound to hear an echo. An echo returned in 2 seconds. What is the distance
of the reflecting surface from the source, given that the speed of sound is 340 m/s.

et w0 A 27 T whaeEtt R 3 forg st w1 e Eh A = g e
eFft =i 2 B wRTeAR 2 5 TrET G S #1 Al el T = 340 my/s @ A @A qe
e IS & i fRar g 2 ?

24. (a) Name two processes that remove O, from the atmosphere and a process that
adds O, to the atmosphere.
(b) Draw a schematic diagram to show how O, is cycled in the atmosphere.
(a) 3 whEEl %1 Seora Hifery o | T § e 1 @va A € qen gaehl qiha
arqrEe § SfRiSE H AR P A § |
(b) e § sieEE & = 1 s e

OR
Q What is a Biogeochemical cycle ? List and explain the four steps of N, cycle in nature.
S TR S A § 7 Wi e < & W wl 1 g S e R
T it |

SECTION - B / HT-&

25. A student has to verify the law of conservation of mass in a chemical reaction.
Which of the following experimental set up is correct.

A

I 11 biig %
A (@ I b 1 (© @
e Forenefl 1w TR SRR § FeE O & T gt e E

firt @ FeraeRt WA e FEie 8 2
| %
) v

[

I I m

@ 1 ®) 1 ( 1 @ v
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[image: image7.jpg]In an experiment to ‘Verify the law of conservation of mass’ in a chemical reaction’,
four students A,B,C,D noted down the following observations of the difference in
mass of the apparatus before and after the chemical reaction.

A-4g, B-8g, Cc-0g D-10g

The student who performed the experiment correctly is.

@ A .- B {€)- =C @ D

o TR SR 8 FeET TR e R g e S F 9R
fefeii 3 sxfvten & TEet sl s 3 T FeaE # S 3 Fre e e f -
A-4g, B-8g, C-0g D-10g

oz farenefl fora i wrEEgE fRa, TR R -

@ A ) B © C @ D

27.  The segments which form the Clitellum in earthworm are 1
() 131415 () 151617 (© 121314 d) 141516
Frau o e FmeeH T E AT -

@ 131415 (b) 151617 () 121314 (d) 141516

28. A plant that produces seeds but no fruit is placed in a group called : - 1
(a) Angiosperms (b) Gymnosperms
() Thallophyta (d) Pteridophyta
@wﬁmﬁwmwmm%mmmaﬁﬁ@ﬁﬁ%:
(a)  forir () o

() e (@ RS

29.  Out of the organisms A, B, C and D, which of them have common features that place 1
them in the same phylum.

(D)

(a) Aand B (b) BandC (©) Cand D (d AandD
‘urr(a“taﬁA,B,camnﬁﬁﬁaﬁmam%amﬁﬁmawﬂmﬁr@m

%a%.
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30. Four slide specimens of plants were shown to students. Which one of these belong to 1
‘Thallophyta’ ?
.
A B € D
(a) A - Pinus (b) B - Spirogyra
(©) C - Fem (d) D - Mustard plant
o

A B (o4 D
(@ A-UETE (b) B- TR
(© C-wd (d) D -wRE
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A group of four students A, B, C and D observed the roots and leaves of grass and 1
reported as under. The correct observation is :

(a) tap root/ parallel venation

(b) tap root/reticulate venation

() fibrous root/ parallel venation
(d) fibrous root/ reticulate venation
=r ferenfei A,B,Cmn#@aﬁﬁﬂmaﬁa@'amwﬁﬁmﬁmﬁﬂmwﬁﬂ

(b) e <&/ sferehred R

@ WER w7 /ferehrad fert fomm

A student identified the following features while observing the eggs in the life cycle of 1
mosquito. Which of the observation is incorrect ?

(a) eggs are oblong shaped and are clamped

(b)  eggsare separated round shaped, bigger in size.

©) eggs are separated, oval shaped smaller in size.

(d) eggsare clustered, bead like structure.

e feranel A T 3 S < A stel 1 S e Frefene Tl ) T T

o e S e AR

(a) S SRR W ¥ aen 3 % w9
(b) U ST ST TR, S WS A |
(© 908 -, SUETER, B WES A |

(d) aﬂ%u@zﬂ,nﬁmaﬁrﬁﬁmm

The level of water in a measuring cylinder before and after a solid of 8g mass is fully 1
immersed into it as shown.

The density of the given solid is :
@ 4g/em’ () 2g/cm’

© 3g/am’ (d)  None of these

e AT faferst § T R 8gmﬂma‘m§aﬁéuzﬁam§aﬁ%aﬁﬁq

Ty o & SER R forw T S IS
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@ 4g/em™ () 2g/em=?
() 3g/em™3 (d) e B T

The correct way of reading the liquid level is shown in :

@) o © ®
(a) Figure A (b)  FigureB ©) Figure C (d)  FigureD

za 1 TR A & e gl e e o femmn mn R

(D)

@ fED

*) V(B)
() FEA (b) =B

During the experiment on measurement of loss in weight of solid in tap water and
salty solution, the maximum loss in weight of the solid is observed, when it s -

(a) partially immersed in tap water

(b) partially immersed in salt solution

() completely immersed in tap water

(d) completely immersed in salt solution
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forelt 3ra 1 21t & ST A qom @R ot § geIR 39k WK F o W v A
31 & WR H stferehad HH Afed w1 T e @

() 2 % v A sifiren w9 @ garn s #)

(b) @R S F Hrer H SAiferh ©9 A garn s )

() 2 F v quf w9 @ galrn s R

(d) @ v & = F gl ®9 Y gan S

If a body floats in a liquid, the weight of the liquid displaced is : -

(a)  more than the weight of the body.

(b)  less than the weight of the body.

(c) equal to the weight of the body.

(d)  depends upon the manner in which the body is immersed in the liquid.

afe g g 7 WA & o fereenfud ga w1 WK da R
(a) I F R A s

(b) TG F IR A FH

() T F WR F SR

(d) sk e R foF g 1 w9 F o e el T R

A student takes an iron cuboid of dimensions 30cm x 20cm X 10cm and mass 5kg.
He places it on the loose sand filled in a rectangular tray.

On the basis of his observations he may conclude that the pressure exerted by the
iron cuboid on the loose sand is :

(a) maximum when it lies on its sides of dimension 30cm X 20cm

(b) maximum when it lies on its sides of dimension 20cm X 10cm

(©) maximum when it lies on its sides of dimension 10cm X 30cm

(d) same in all the three cases as the thrust is same

T feramell 30cm x 20cm x 10cm femretl aer T g 1 s Foreren 7oA kg 8, S

?1 9% SR Toh SAAAHR ¢ H Tl T fforer Ya W T #1 a7 Jamoii & sMeR W aw
Fored frepreran # o i 3 e g farferet X w0 o T g A

(@) 30cm x 20cm fammsl a1 g8 W @ S W atfewan

(b)  20cm x 10cm famisii amt g R @ S W 3ifeeay

(©)  10cmx 30cm famati a1l g% W W@ WM W sferman

(d) ol T B, gafer i el < S

A metallic cuboid of mass 12 kg has dimension 40cm X 30cm X 10cm. The maximum
and minimum pressures exerted by the cuboid on a surface respectively would be :

(Take g =10m/s%)
(a) 4000 Pa and 3000 Pa (b) 4000 Pa and 2000 Pa
(c) 4000 Pa and 1000 Pa (d) 3000 Pa and 1000 Pa

T wfcerd T AT 40cm x 30cm X 10cm T FAAH 12 kg &1 6 w19 BT et
TS TR SN A1 S T =ATH T B FAA: - (g HNAA =10m/s>SARIC)
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(a) 4000 Pa 13000 Pa (b) 4000 Pa T 2000 Pa
(c) 4000 Pa T 1000 Pa (d) 3000 Pa 911000 Pa

If we place the porous surface at the back of the hollow tubes in the experimental
setup of reflection of sound then

(a) Sound will be heard with greater intensity than the incident sound.

(b) Sound will be heard with lesser intensity than the incident sound.

(c) No reflection of sound takes place.

(d) Reflected sound will remain same as incident sound.

aﬁ%ﬂwﬁ?mﬁﬁ?ﬁﬁmaﬁmmﬁmﬁwﬁﬁﬁ@mwwé
-

(a) e eaf 3 sTen sifeh yore et g <

(b) ST AR are oy S g &

() e e e A

(d) it et smafi et % wEE @i

A laboratory has the following apparatus available in it

(A)  Two thin hollow wooden tubes.

(B) An intense and broad source of sound.

(C)  Anintense pointed source of sound.

(D) A sharp pointed detector of sound.

(E) A well polished metal sheet.

(F) A white painted thermocol sheet.

A student can do his experiment for verifying the laws of reflection of sound
successfully by choosing the apparatus labelled as :

(@ AGCDE (b ACE ¢ ABDE (d ACD
e e # A f T SueRr e € -

(&) AT W TR TR (B) T e e =
(€) U Tl qen T S A A (D) T A TEE A TR

(B) o e g U Rl e (F) T uhg U2 F g o e

e Y o T A A R AR ST = Ao At 3 e & G
AHCTE S G At el € :
@ ACDE () ACE © ABDE (@ ACD

In the experiment to determine the speed of a longitudinal pulse through a slinky,
select the statement which is not correct.

(a) One end of the stretched slinky should be firmly tied to the hook ona wall
(b)  The slinky should not touch any surface

©) The slinky should be short and non-flexible

(d)  Thelongitudinal pulse should be created gently in the slinky.

et feert § S argeed e F T T FE F T 3 e 39 R G St

T R?

(a) A Feerar w1 e o SR # o g & qedgeE s wifen |
() e @i fre ot g g e

() et B qen s grl =t

Page 13 of 14





[image: image13.jpg](@) fer ¥ smgeed T dit ¥ SO e =)

A student fixes two ends of a rope to two rigid supports A and B placed at a distance
of 7.5 m. He then gives a transverse horizontal jerk to create a pulse in the rope which
moves from A to B, B to A, again from A to B and B to A and so on. The moment he
gives jerk to the rope his friend immediately starts the stopwatch. The pulse dies after
completing three, to and fro journeys from A to B and back. The pulse takes 1 min
and 15 s to complete its entire journey. The speed of the pulse moving on the rope is

(a) 1.5m/s (b) 1.0m/s (c) 09m/s (d 06m/s
HE o et Sl 1 1 g3 SURI A 7B S Th G A 7.5 m R E W HHRT AHA B 1

TG IYEE 98 SR 6 T Y T AT STy St SR Uk T 3ede A @ af SRt H
AYB,BAARRAABRBAA Tt waor ot oft | <1 & o S 1 el a1 & T
& s it form =it =g X A ¥ 1 FE T SR H S-S A A g w1 F
YT T B S ¥ 1 T G A B HA W T e 15 IS B W A #
AT H @R

b e R R

(© 09m/s (d) 06m/s
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